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Fy=Gy=my g=0.2 kgx10 N/kg=2 N
(2) RERIGHE T, (e TR AW AR EE R 6 cm B, 421
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Vi =S,h; =30 ecm’x6 cm=180 cm’=1.8x10™ m’
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Fi'=py gV =1.2x10" kg/m’x10 N/kgx1.8x10™ m*=2.16 N
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90 c¢m’
PEFARFLV,, =S,h,—-S,h, =30 em’x12 em=27 em*x10 em=90 e¢m’

lein =

=22 cm




0 5 A0 L T 2R il T EL B A A P R i T A T I
I A TR
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Gy=my g=py Vy g=1.0x10" kg/m’x1 100x10™° m’x10 N/kg=11 N
BRI E ST Go=m, g=0.9 kgx10 N/kg=9 N
WA TR, AR SIS F=G +G, =11 N+9 N=20 N
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Vi =S,h, =100 cm’x5 em=500 cm’
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Vi =V, +V, =500 cm’+1 100 em® =1 600 cm’
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(3) AU RT S0, W A K ()X Bead B2 v MR TSR 21 by, B DER
KT 5 BN AR AR
YIEEIFR Vi = S,h+S,h =100 em® X5 cm+50 cm® X5 ¢m =
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